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*If ܉ሬԦ , Ԧ܊ , .ሬԦ܉ Ԧ are vectors such that܋ Ԧ܊ ൌ ૙ and ܉ሬԦ ൅ Ԧ܊ ൌ  Ԧ܋

 (1) |aሬԦ|ଶ ൅ หbሬԦห
ଶ

ൌ |cԦ|ଶ(2) |aሬԦ|ଶ ൌ หbሬԦห
ଶ

൅ |cԦ|ଶ  

 (3) หbሬԦห
ଶ

ൌ |aሬԦ|ଶ ൅ |cԦ|ଶ(4) None of these 
Correct Option: (1) 
 

*If ܉ሬԦ ൈ Ԧ܊ ൌ Ԧ܊ Ԧ and܋ ൈ Ԧ܋ ൌ   ሬԦ then܉
 (1) |aሬԦ| ൌ 1, หbሬԦห ൌ |cԦ| (2) |cԦ| ൌ 1, |aሬԦ| ൌ 1  
 (3) หbሬԦห ൌ 2, หbሬԦห ൌ 2|aሬԦ| (4) หbሬԦห ൌ 1, |cԦ| ൌ |aሬԦ| 
Correct Option: (4) 
 

*If ห܉ሬԦ ൅ Ԧ܊ ห ൐ ห܉ሬԦ െ Ԧ܊ ห then angle between ܉ሬԦ ܊ ܌ܖ܉Ԧ  is  
 (1) acute  (2) obtuse  (3) coplanar  (4) none of these 
Correct Option: (1) 
 

*If ܉ሬԦ ܊ ܌ܖ܉Ԧ  are two vectors such that ܉ሬԦ. Ԧ܊ ൏ 0 and ห܉ሬԦ. Ԧ܊ ห ൌ ห܉ሬԦ ൈ Ԧ܊ ห, then angle 
between vectors ܉ ሬሬሬԦ ܊ ܌ܖ܉Ԧ  is  

 (1) π (2) ଻஠
ସ

 (3) ஠
ସ
 (4) ଷ஠

ସ
 

Correct Option: (4) 
 

*If  ܉ሬԦ, Ԧ܊ , ሬԦ܉Ԧ are unit vectors, then ห܋ െ Ԧ܊ ห
૛
+ ห܊Ԧ െ Ԧห܋

૛
Ԧ܋|+ െ  ሬԦ|૛ does not exceed܉

        (1) 4                          (2) 9                            (3) 8                      (4) 6 
Correct Option: (2) 
 

*Let ܉ሬԦ ൌ ܑ െ ૛ܒ ൅ ૜ܓ if ܊Ԧ  is a vector such that ܉ሬԦ. Ԧ܊ ൌ ห܊Ԧ ห
૛
and ห܉ሬԦ െ Ԧ܊ ห ൌ √ૠ then ห܊Ԧ ห ൌ

     
(1) 7(2) 14 (3) √7 (4) 21 
Correct Option: (3) 
 

*If ܉ሬԦ ܊ ܌ܖ܉ሬሬሬԦ are two unit vectors inclined at an angle ࣊
૜
, then the value of ห܉ሬԦ ൅ Ԧ܊ ห is 

     
 (1) greater than 1 (2) less than 1 (3) equal to 1 (4) equal to 0 
Correct Option: (1) 
 

*If ܉ሬԦ ൌ ܑ ൅ ૛ܒ ൅ ૛ܓ, ห܊Ԧ ห ൌ ૞ and the angle between ܉ሬԦ ܊ ܌ܖ܉Ԧ  is ૈ
૟
 then the area of the 

triangle formed by these two vectors as two sides is    
 (1) ଵହ

ଶ
 (2) 15 (3) ଵହ

ସ
 (4) ଵହ√ଷ

ଶ
 



Correct Option: (3) 
 

*If |܉ሬԦ| ൌ ૜, ห܊Ԧ ห ൌ ૝, |Ԧ܋| ൌ ૞ each one of ܉ሬԦ, Ԧ܊  Ԧ is perpendicular to the sum of the܋ ܌ܖ܉ 
remaining then ห܉ሬԦ ൅ Ԧ܊ ൅        Ԧห is equal to܋

 (1) ହ
√ଶ

 (2) ଶ
√ହ

 (3) 5√2 (4) √5 
Correct Option: (3) 
 
 

*If the vectors ۰ۯሬሬሬሬሬԦ ൌ ૜଍̂ ൅ ૝ܓመ  and ۱ۯሬሬሬሬሬԦ ൌ ૞଍̂ െ ૛଎̂ ൅ ૝ܓመ  are the sides of a triangle ABC, 
then the length of the median through A is    
 (1) √18 (2) √72 (3) √33 (4) √45 

Correct Option: (3) 
 
*Let ܉ሬԦ, Ԧ܊ . Ԧܚ Ԧ be four non-zero vectors such that܋ ܌ܖ܉  ሬԦ܉ ൌ ૙, หܚԦ ൈ Ԧ܊ ห ൌ Ԧ܊Ԧ|หܚ| ห, |ܚԦ ൈ |Ԧ܋ ൌ
,ሬԦ܉ൣ Ԧ| then܋||Ԧܚ| Ԧ܊ ,   Ԧ൧ is܋

 (1) െ1 (2) 0 (3) 1 (4) 2 
Correct Option: (2) 
 

* If ܊Ԧ ൌ ૛଍̂ ൅ ଎̂ െ መܓ , Ԧ܋ ൌ ଍̂ ൅ ૜ܓመ  and ܉ሬԦ is a unit vector then the maximum value of  
,ሬԦ܉ൣ Ԧ܊ ,   Ԧ൧is܋

(1)√59 (2) √69 (3) 3  (4) െ1 
Correct Option: (1) 
 
 

* If ܉ሬԦ, Ԧ܊ ሬԦ܉ Ԧ are any three vectors, then܋ ܌ܖ܉  ൈ ൫܊Ԧ ൈ Ԧ൯܋ ൌ ൫܉ሬԦ ൈ Ԧ܊ ൯ ൈ  Ԧ if and only if܋
 (1) bሬԦ and cԦ are collinear (2) aሬԦ and cԦare collinear 
 (3) aሬԦ and bሬԦ are collinear (4) None of these 
Correct Option: (2) 
 
 

* Which of the following is a true statement?  
 (1) ൫aሬԦ ൈ bሬԦ൯ ൈ cԦ is coplanar with cԦ (2) ൫aሬԦ ൈ bሬԦ൯ ൈ cԦ is perpendicular to aሬԦ  
 (3) ൫aሬԦ ൈ bሬԦ൯ ൈ cԦ is perpendicular to bሬԦ (4) ൫aሬԦ ൈ bሬԦ൯ ൈ cԦ is perpendicular to cԦ 
Correct Option: (4) 
 
 

* Let ܉ሬԦ, Ԧ܊  Ԧ be three non-zero vectors such that no two of them are collinear and܋ ܌ܖ܉ 
൫܉ሬԦ ൈ Ԧ܊ ൯ ൈ Ԧ܋ ൌ ૚

૜
ห܊Ԧ ห|܋Ԧ|܉ሬԦ. If ી is the angle between vectors ܊Ԧ  and ܋Ԧ, then a value of ܖܑܛી 

is       
(1) ଶ√ଶ

ଷ
 (2) െ √ଶ

ଷ
 (3) ଶ

ଷ
 (4) ିଶ√ଷ

ଷ
 

Correct Option: (1) 
 

 



* If ܉ሬԦ, Ԧ܊ ሬԦ܉ Ԧ be three unit vectors such that܋ ܌ܖ܉  ൈ ൫܊Ԧ ൈ Ԧ൯܋ ൌ √૜
૛

൫܊Ԧ ൅ Ԧ܊ Ԧ൯. If܋  is not 

parallel to ܋Ԧ then the angle between ܉ሬԦ and ܊Ԧ  is     
 (1) ଷ஠

ସ
 (2) ஠

ଶ
 (3) ଶ஠

ଷ
 (4) ହ஠

଺
 

Correct Option: (4) 
 

ADDITIONAL PROBLEMS: 
 
* If ߣ൫3ଓ̂ ൅  2ଔ̂ െ  6 ෠݇൯  is a unit Vector, then the value of ߣ are  

(a)  ൅ ଵ
଻
    (b)  ൅ 7    (c)  ൅√43   (d)  ൅ ଵ

√ସଷ
 

Answer : a   

* Three non‐zero, non‐collinear vector a, b & c are such that a + 3b is collinear with c, 3b + 
2c is collinear with a, then a + 3b + 2c = 

(a)   0    (b)  2a    (c)  3b    (d)  4c 

Answer : a  

*  Area of the Rhombus is ..... where diagonals are  

Ԧܽ ൌ 2ଓ̂ െ   3ଔ̂ ൅  5 ෠݇   &  ሬܾԦ ൌ െଓ̂ ൅ ଔ̂ ൅ ෠݇ . 

(a)  √21.5   (b)  √31.5   (c)  √28.5   (d)  √38.5 

Answer : c   

* Given p = 3 ଓ̂ ൅  2ଔ̂ ൅  4 ෠݇  ,  a = ଓ̂ ൅ ଔ̂ ,   b = ଔ̂ ൅ ෠݇  ,   c = ଓ̂ ൅ ෠݇   and  p=xa+yb+zc. Then x, y and 
z are respectively. 

(a) 
ଷ
ଶ

 , ଵ
ଶ

 , ହ
ଶ
  (b) 

ଵ
ଶ

 , ଷ
ଶ

 , ହ
ଶ
  (c) 

ହ
ଶ

 , ଷ
ଶ

 , ଵ
ଶ
  (d) 

ଵ
ଶ

 , ହ
ଶ

 , ଷ
ଶ
 

Answer : b   

* The three points whose position vectors are  ଓ̂ ൅  2ଔ̂ ൅  3 ෠݇  ,  3 ଓ̂ ൅  4ଔ̂ ൅  7 ෠݇3 ଓ̂ ൅  2ଔ̂ ൅  5 ෠݇  

(a)  form an equilateral ∆௟௘       (b)  form a right angled ∆௟௘  

(c)  are collinear         (d)  form an isosceles ∆௟௘  

Answer : c  

*  If    Ԧܽ is a non – zero vector of Magnitude  ‘a’ and  ‘λ‘ a non  ‐ zero scalar, then λ Ԧܽ is a unit 
vector if 



(a)  λ = 1    (b)  λ = ‐1    (c)  a = |λ|   (d)  ܽ ൌ ଵ
|஛| 

Answer : d  

* If  | Ԧܽ|  = 3,   หሬܾԦห  =  4  and   ห Ԧܽ െ ሬܾԦห = 5,  then  ห Ԧܽ ൅  ሬܾԦห   = 

(a)  6    (b)  5    (c)  4    (d)  3 

Answer :  b   

* If   Ԧܽ, ሬܾԦ, Ԧܿ  are unit vectors such that   Ԧܽ ൅  ሬܾԦ ൅  Ԧܿ  = 0 

  then  Ԧܽ. ሬܾԦ ൅  ሬܾԦ. Ԧܿ ൅  Ԧܿ. Ԧܽ ൌ 

(a) 
ିଶ
ଷ
    (b) 

ଶ
ଷ
    (c) 

ଵ
ଶ
    (d) 

ିଷ
ଶ
 

Answer :  d 

* If  i + j +  ෠݇  ,  i – j,  i + 2j + ak,  are coplanar then  a = 

(a) 
ଷ
ଶ
    (b)  3    (c)  ‐3    (d)  0 

Answer : a  

* If   Ԧܽ and   ሬܾԦ   are unit vectors such that ߠ is the angle between them, ห Ԧܽ െ ሬܾԦห ൌ 

(a)  2cos  ߠ (b)  2 sin  ߠ (c)  2cos ߠ
2ൗ   (d)  2sin ߠ

2ൗ  

Answer :  d 

*ൣ Ԧܽ ൅ ሬܾԦ ሬܾԦ ൅ Ԧܿ Ԧܿ ൅ Ԧܽ൧  ൌ 

(a)  ൣ Ԧܽ ሬܾԦ Ԧܿ൧  (b)  ∑൫ Ԧܽ . ሬܾԦ൯ Ԧܿ  (c)  2ൣ Ԧܽ ሬܾԦ Ԧܿ൧  (d)  | Ԧܽ|ห ሬܾԦห| Ԧܿ| 

Answer : c  

* The projection of  റܽ ൌ 5ଓ̂ െ ଔ̂ ൅  3 ෠݇    on   ሬܾറ  ൌ 2ଓ̂ ൅  ଔ̂ െ ෠݇    is 

(a)  6    (b)  √6    (c)  √3    (d)  None of these. 

Answer : b  

* The Area of the triangle whose vertices are 

A  =  (1, ‐1, 2),  B = (2, 1, ‐1)   and    C = (3, ‐1, 2)  is 

(a)  4√3   Sq. units    (b)  2√3    Sq. units 



(c)  √13   Sq. units    (d)  √15    Sq. Units 

Answer :  c  

* If   റܽ  and   ሬܾറ   are unit vectors and  ห റܽ ൈ ሬܾറห ൌ 1  Then the angle between   റܽ   and   ሬܾറ   is 

(a)  
గ
ସ
    (b) 

గ
ଶ
    (c) 

గ
ଷ
    (d)   ߨ

Answer : b    

* റܽ  ൌ 2ଓ̂ ൅  3ଔ̂ െ  4 ෠݇  ,        ሬܾറ  ൌ ଓ̂ ൅  ଔ̂ ൅  ෠݇      and    റܿ  ൌ 4ଓ̂ ൅  2ଔ̂ െ  3 ෠݇     Thenห റܽ ൈ ൫ሬܾറ ൈ റܿ൯ห  = 

(a)  √10    (b)  1    (c)  2    (d)  √5 

Answer : d    

*  If  the  vectors   ଓ̂ െ  2ଔ̂ ൅  3 ෠݇  ,   െ2ଓ̂ െ  3ଔ̂ െ 4෠݇,      ଓ̂ ߣ  െ ଔ̂ ൅  2 ෠݇      are  linearly  dependent, 
then the value of   λ  is 

(a)  0    (b)  1    (c)  2    (d)  3 

Answer : a 

* The point collinear with (1, ‐2, ‐3)  and (2, 0, 0) among the following 

(a)  (0, 4, 6)  (b)  (0, ‐4, ‐5)  (c)  (0, ‐4, ‐6)  (d)  (0, ‐4, 6) 

Answer :  c  

* If the vectors   ଓ̂ െ ଔ̂ݔ2  െ ෠݇ ݕ3     and  ݅ ൅ ݆ݔ3  ൅ ෠݇ ݕ2    are orthogonal to each other, then 
the locus of the point (x, y) is 

(a)  circle    (b) an ellipse  (c)  parabola  (d)  straight line. 

Answer :  a  

* The position vectors of the vertices of a triangle are   2i – j + k,  i – 3j – 5k,  and  3i – 4j – 4k  
then it is  

(a)  equilateral ∆௟௘                    (b)       isosceles ∆௟௘ 

(c)  right angled ∆௟௘     (d)  right angled isosceles∆௟௘  

Answer : c 

* The ratio in which the line segment joining the points (2, 4, 5) & (3, 5, ‐4) is divided by the 
point (0, 2, 23) is  

(a)  3 : 2    (b)  ‐2 : 3    (c)  1 : 2    (d)  ‐1 : 2 



Answer : b 

* A set of direction cosines of the vector which is equally inclined to co–ordinate axes is 

(a) 
ଵ
ଶ

 , ଵ
ଶ

 , ଵ
ଶ
  (b)  √ଷ

ଶ
 , √ଷ

ଶ
 , √ଷ

ଶ
  (c) 

ଵ
√ଶ

 , ଵ
√ଶ

 , ଵ
√ଶ
  (d) 

ଵ
√ଷ

 , ଵ
√ଷ

 , ଵ
√ଷ
 

Answer :  d  

*  If ן, ,ߚ   ߴ are  the  angles made  by  a  vector  with  the  coordinate  axes,  then cos 2 ן
 ൅ cos 2 ߚ ൅  cos 2 ߴ ൌ 

(a)  ‐ 1    (b)  1    (c)  2    (d)  ‐ 2 

Answer : a 

* If i, j are unit vectors and   ݅ ൈ ݆ ൌ ݇,  then ሺ݅ ൅ ݆ሻ ൈ ሺ݆ െ ݅ሻ ൌ 

(a)  k    (b)  2k    (c)  ‐ k    (d)  ‐ 2k 

Answer : b 

*݅ . ሺ݆ ൈ ݇ሻ ൅  ݆ . ሺ݇ ൈ ݅ሻ ൅  ݇ . ሺ݅ ൈ ݆ሻ ൌ  

(a)  0    (b)  1    (c)  3    (d)  None of these. 

Answer :   

* If    റܽ  ൌ  ଓ̂ െ  ଔ̂ ൅  ෠݇    and     ሬܾറ  ൌ  2ଓ̂ ൅ ଔ̂ െ ෠݇     then  ห2 റܽ െ  ሬܾറห 

(a)  6    (b)  √3    (c)  3√2    (d)  18 

Answer :  c 

* If    റܽ  ൌ  ൫3݅ െ  ଔ̂ ൅  2 ෠݇൯,        ሬܾറ  ൌ  2ଓ̂ ൅ ଔ̂ െ  ෠݇ ,    then   റܽ  ൈ  ൫ റܽ . ሬܾറ൯  is  

(a)  0    (b)  3 റܽ    (c)  3√14   (d)  None of these. 

Answer : d 

* If    റܽ.  ሬܾറ.  റܿ  are mutually ٣௥  unit vectors then ห റܽ  ൅  ሬܾറ  ൅ റܿห ൌ 

(a)  √3    (b)  3    (c)  1    (d)  0 

Answer :  a 

* If    റܽ. ሬܾറ. റܿ   are the position vectors of the vertices of an equilateral ∆௟௘   whose orthocentre 
is at origin, then 

(a)  റܽ ൅ ሬܾറ ൅ റܿ ൌ 0෠     (b)  റܽଶ ൌ ሬܾറଶ ൅ റܿଶ   



(c)  റܽ ൅ ሬܾറ ൌ റܿ      (d)  None of these. 

Answer : a  

* If   റܽ and   ሬܾറ   are two vectors such that  റܽ. ሬܾറ ൌ 0  and    റܽ ൈ ሬܾറ ൌ 0, then  

(a)  റܽ ു ሬܾറ        (b)  റܽ ٣ ሬܾറ    

(c) either   റܽ  or   ሬܾറ  is a null vector  (d)  None of these. 

Answer : c   

*Let      റܽ  ൌ ݆ െ  ෠݇       and      റܿ ൌ ݅ െ ݆ െ  ෠݇        then,  the vector    ሬܾറ    satisfying    ොܽ  ൈ  ෠ܾ ൅  ܿ̂ ൌ 0    
and   റܽ . ሬܾറ  ൌ 3   is 

(a)  െଓ̂ ൅  ଔ̂ െ 2෠݇     (b)  2ଓ̂ െ  ଔ̂ ൅  2 ෠݇  

(c)   ଓ̂ െ  ଔ̂ െ  2 ෠݇       (d)  ଓ̂ ൅  ଔ̂ െ 2෠݇  

Answer : a     

* If   2a + 3b + c = 0  then  ܽ ൈ ܾ ൅ ܿ ൈ ܾ ൅ ܿ ൈ ܽ ൌ 

(a)  6ሺܾ ൈ ܿሻ    (b)  3ሺܾ ൈ ܿሻ    (c)  2ሺܾ ൈ ܿሻ  (d)  0 

Answer : b  

 
 

 


